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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 7 × 2 = 14
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&
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1)	 (i)	 State the names of four main users of accounting 

information.

		  boIm§H$Z gyMZmAm| Ho$ Mma à‘wI à¶moJH$Îmm©Am| Ho$ Zm‘ Xr{O¶o&

	 (ii)	 What do you mean by Journal?

		  OZ©b go AmnH$m ³¶m Ame¶ h¡?

	 (iii)	 What do you mean by 'issuing of securities at premium?

		  à{V^y{V¶m| Ho$ àr{‘¶‘ na {ZJ©‘Z go Amn ³¶m g‘PVo h¡?

	 (iv)	 State any two points of difference between shares and 

debentures.

		  A§em| VWm F$UnÌm| ‘| H$moB© Xmo AÝVa ~VmB¶o&

	 (v)	 The Assets purchased from a continuing business were 

valued at ` 540000 and its liabilties were taken at ` 

150000. Purchase consideration was of ` 600000. What 

will be the amount of Goodwill?

		  EH$ Mmby ì¶dgm¶ H$s IarX na H$¶ H$s J¶r gån{Îm¶m| H$m ‘yë¶ 
540000 é. VWm Xm{‘Ëd 150000 é Ho$ {b¶o J¶o H«$¶ à{V’$b 
600000 é. Wm »¶m{V H$s am{e ³¶m hmoJr?

	 (vi)	 To which account the amount of unclaimed dividend is 

transferred after the expiry of 7 years.

		  Z ‘m§Jm J¶m bm^m§e H$s am{e H$mo 7 df© níMmV² {H$g ImVo ‘| 
ñWmZmÝV[aV {H$¶m OmVm h¡?

	 (vii)	What is declaration of solvency.

		  emoYZ j‘Vm H$s KmofUm ³¶m h¡?
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	 Section - B	 4 × 7 = 28
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 7 marks.

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 7 A§H$m| H$m h¡&

2)	 Explain the following:

	 (a)	 The separate entity concept.

	 (b)	 The Going concern concept.

	 {ZåZ{b{IV H$mo g‘mPmB¶o

	 (A)	n¥WH$ A{gËd AdYmaUm

	 (~)	Mmby ì¶dgm¶ AdYmaUm

3)	 What do you mean by Debentures? Explain its various types.

	 F$UnÌm| go Amn ³¶m g‘PVo h¢? BZHo$ {d{^Þ àH$ma ~VmB¶o&

4)	 What is underwriting commission? Explain the provisions of 
companies act regarding payment of underwriting commission.

	 A{^JmonZ H$‘reZ {H$go H$hVo h¡? A{^JmonZ H$‘reZ Ho$ ^wJVmZ g§~§Y 
‘| H$ånZr A{Y{Z¶‘ Ho$ àmdYmZm| H$mo g‘PmB¶o.

5)	 Describe and illustrate the 'Net Asset Method' of valuing 
shares.

	 A§emo Ho$ ‘yë¶m§H$Z H$s ewÕ gån{Îm{d{Y H$m CXmhaU g{hV dU©Z H$s{O¶o&
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6)	 Distinguish between 'Amalgamation in the nature of Merger 
and Amalgamation in the nature of Purchase.

	 {db¶ H$s àH¥${V Ho$ EH$sH$aU VWm H«$¶ H$s àH¥${V Ho$ EH$sH$aU ‘| AÝVa 
g‘PmB¶o&

7)	 What do you understand by liquidator's   final statement of 
Account? When is it prepared?

	 {ZñVmaH$ Ho$ ApÝV‘ {hgm~ Ho$ {ddaU go Amn ³¶m g‘PVo h¢? ¶h H$~ 
V¡¶ma {H$¶m OmVm h¡?

8)	 Write a short note on Managerial Remuneration.

	 à~§YH$s¶ nm[al{‘H$ na EH$ g§{já boI {b{I¶o&

9)	 What do you understand by forfeiture of shares? Explain the 
accounting treatment of forfeiture of shares.

	 A§emo Ho$ haU go AmnH$m ³¶m Vmá¶© h¡? A§emo Ho$ haU Ho$ g§~§Y ‘o 
boIm§H$Z g§~§Yr ì¶dhma g‘PmB¶o&

	 Section - C	 2 × 14 = 28
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
14 marks.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$aZm h¡& àË¶oH$ àíZ 14 A§H$m| H$m h¡& 

10)	 Discuss the different methods of Redeeming the Redeemable 
Preference shares. Also give necessary journal entries under 
each method. 
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	 emoYZr¶ A{Y‘mZ A§emo H$m emoYZ {H$Z-2 {d{Y¶m| Ûmam {H$¶m Om gH$Vm 
h¡& àË¶oH$ {d{Y Ho$ g§~§Y ‘| OZ©b à{d{ï>¶m§ ^r Xr{O¶o.

11)	 Write Explanatory notes on following :

	 (a)	 Pro-rata Allotment of shares

	 (b)	 Surrender of shares

	 (c)	 Reserve capital

	 (d)	 Calls in advance on shares

	 {ZåZ{b{IV na ì¶m»¶mË‘H$ {Q>ßn{U¶m§ Xr{O¶o:
	 (A)	A§emo H$m ¶WmZwnmV Am§~Q>Z
	 (~)	A§emo H$m g‘n©U
	 (H$)	g§{MV ny§Or
	 (S>)	A§emo na A{J«‘ àmá ‘m§Jo.                                                                                                                                

12)	 What is meant by 'Internal Reconstruction'? Give conditions 
when internal Reconstruction becomes desirable also discuss 

the accounting procedure of alteration of share capital.

	 Am§V[aH$ nwZ{Z‘m©U go ³¶m Ame¶ h¡& CZ n[apñW{V¶m| H$mo ~VmB¶o O~ 
Am§V[aH$ nwZ{Z©‘m©U dm§N>Zr¶ hmo OmVm h¡? gmW hr A§e ny§Or ‘| n[adV©Z 
H$s boIm§H$Z à{H«$¶m H$m ^r dU©Z H$s{O¶o&

13)	 The following information relates to the business of a 
partnership firm.

	 (a)	 Average capital employed in the business ` 50,00,000.

	 (b)	 �Net (trading) profit of the firm for the past three years (after 
tax) were : ` 10,20,000,  ` 6,40,000 and ` 7,40,000.

	 (c)	 Reasonable rate of return 10%.
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	 (d)	 Fair remuneration to the partners is ` 2,10,000 (annual).

		  Calculate the value of Goodwill -

	 	 (i)	 �On the basis of five years purchase of the annual 
average super profits;

	 	 (ii)	 On the basis of capitalising  the super profit;

	 	 (iii)	 �On the basis of annuity of super profits, taking the 
present value of annuity of one rupee for five years at 
10% interest is ` 3.791.

		�  Comment as to which method of the above is more 
appropriate and why?

	
	 {ZåZ{b{IV gyMZm¶o EH$ gmPoXmar H$‘© Ho$ ì¶dgm¶ go g§~§{YV h¡:
	 (A)	ì¶mnma ‘| bJr hþB© Am¡gV ny±Or ` 50,00,000;
	 (~)	�JV VrZ dfm] Ho$ ewÕ ì¶mnm[aH$ bm^ (H$a Ho$ ~mX) Wo ̀  10,20,000; 

` 6,40,000 VWm ` 7,40,000;
	 (g)	Cgr àH$ma Ho$ ì¶mnma ‘| bm^ H$s C{MV Xa 10% h¡;
	 (X)	�gmPoXma H$s godmAm| Ho$ {bE C{MV nm[al{‘H$ ` 2,10,000 dm{f©H$ 

h¡&
	 »¶m{V Ho$ ‘yë¶ H$s JUZm H$s{O¶o-
	 (i)	 dm{f©H$ Am¡gV A{Ybm^m| Ho$ nm§M JwZo Ho$ AmYma na;
	 (ii)	 dm{f©H$ Am¡gV A{Ybm^m| Ho$ ny§OrH$aU Ho$ AmYma na
	 (iii)	� A{Ybm^m| H$s dm{f©H$ d¥{Îm Ho$ AmYma na, 10% ã¶mO H$s Xa nm§M 

dfm] Ho$ {b¶o ` 1 H$s dm{f©H$ d¥{Îm H$m dV©‘mZ ‘yë¶ ` 3.791 ‘mZm 
Om¶o&

	 Cnamoº$ {d{Y¶m| ‘| go H$m¡Zgr {d{Y gdm©{YH$ Cn¶wº$ h¡ Am¡a ³¶m|?


